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You have four choices for each objective type question as A, B, C
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and D. The:choice which you think is eorrect, fill that bubble in front of that question number, on bubble sheet. Q-NO-I
Use marker or pen to fili the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=ity Sr.No.
9 7 6 3 The number of base units in SI 1
are: eSS st |
Distance Speed Velocity Displacement | A change in position is called: 2
el yre & Vs ok I -G‘—GM&’; (J:U?Jz’
Rate of change of momentum is 3
Distance Mass Force Torque equal to:
el Ul g S -ﬁf.,(}ﬁ/J/,‘C,}Jé‘)fu':‘}‘{/ )
. mv? . mv ) mr? _my The formula to calculate 4
Fe = p F, = e Fp = 'jvj‘ Fe = "r“z'" centripetal force is:
-..»‘:_Uf/';igi./"y'“’u’/}(ﬁ"fd’}%:’
The number of perpendicular 5
4 3 2 1 components of force are:
eSS LG LA
350,000 Km 360,000 Km 370,000 Km 380,000 Km The distance of moon from earth 6
is: —g bk
Thermal energy | Kinetic energy | Potential energy | Electric energy | The energy stored in a dam is: 7
gt B g 0¥ gy gL gt UL |
10 % 90 % 200 % 100 % The efficiency of an ideal 8
system is: -ganﬁﬁlJf’dlﬁ .
Nm2 N Nm? Nm In SI system the unit of pressure 9
is: -9@‘)1&4{(2/?()5(’/8[
-273K 0K 300 0" F Water freezes at: 10
e tberdag FAU
Which one of the following 11
Mercury Water Ice Copper material has large specific heat?
S/, L}& - 4% Jb¥ o c:uliu&)difl)!r@gﬂw
Y4
Chlorine Carbon Carbon dioxide Oxygen Global warming is due to which 12
o monoxide TS T gas?
}'Lﬂ,fy‘cju{ ?+3ﬁ¢,1>;()rufu/u€;/i)dfy€
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NOTE: Write same question number and its parts number on answer book, as given in the question paper. _4(,_@”‘;ej"’i,,fﬂé@l)ﬁfz‘”ﬁ)db,ub_‘(é{‘é]z_:g’]

SECTION-I Jit.o
% Attempt any five parts. I 10=2x%5 -7 *’Q‘-"‘:‘Z’g’k“‘d’r 2y
(i) | Define Plasma Physics. -q'/-é’/YJJ/fLJ% (i)
(i) | List any four base units with symbols. _u‘@ﬁ'&!‘ e S Ao 3y (i1)
L ’ 1Sk
(iii) | Why we use screw gauge to measure diameter of a wire? [ s Sy ’:.’@Z N eN /I,,L,, /‘{yﬁb’ztu’((" (iii)
(iv) | Define dynamics. i /7&/(1;’15 (iv)
(v) | On which bodies does Newton’s first law deal? o Ll JSoliuggte | W)
(vi) | Narrate Newton’s second law of motion. e 7 bt | (VD)
(vii) | State Law of Gravitation. S eedeh sy (vii)
(viii) | Why we do not realize gravitational force around us? ez Jt Ul L’J}ﬁ‘d Y s /’""'r’ A (viii)
3. Attempt any five parts. 10=2x8 _e,{;,jb.‘g,gé,z,gg‘,&{ 3401y
() Differentiate between linear motion and random motion, LEENI S (s slf v i ®
(i) | Why the passengers standing in a bus fall forward on gl Sl e S LT LB B floe, S (i)
applying brakes suddenly? " ! . .
(il)) | Define gravitational acceleration and when does the b dn S mededdimgtay FEAMS eS| (D) '
value of ¥g” become positive and negative? S B
(iv) | Define Young’s Modulus and write its mathematical Ly QL A s A5 e (iv)
formula. ’ )
(v) | What does it mean when the atmospheric pressure at a place St S S snl o I8 2 S Ll o
fall suddenly? - g \ C )
(vi) | State Pascal’s law. Write its two applications. L S0 L1 E eI (vi)
{(vil) | State Archimedes principle. AN Ay {vii)
(viii) | Differentiate between elasticity and elastic limit. el By ‘A'G‘/f/!&! (viii)
4. Attempt any five parts. 10=2 x5 ~g£/_,;’..-.grz£rméga,éf 45y
(i) | Define Couple. Write mathematical equation for its total ol S L LS g gl | D
torque. ) i i T
(ii) | Define second condition of equilibrium and write its el S i P Sb 267 ”b(r’: 46‘,{‘ (ii)
mathematical expression. . ) i ' v
(iif) | Does the ceiling fan satisfy second condition for Set S s /“d/»u(rf AN M s Bty iz (iii)
equilibrium when rotating with unifoi.n speed? ' )
(iv) | How energy is produced by burning fossil fuels? e dmig e i wtdS 3| (V)
(v) | Define an ideal system with respect to efficiency. b A (b‘/d'\?‘ oy g_oﬁ‘{" & )
(vi) | Write mass-energy equation and how can apply it in el O Zaiordin sl 2 sl is S A (vi)
daily life with example. - 3
(vii) Why does a p.ie.ce of stone sink in water but a ship Utk 2 g dusz g o PR Y- (‘5%,- £ % (vii)
with huge weight floats? ) :
(viii) | Differentiate between temperature and heat. ‘ L bdp e (viii)
SECTION-IL o2
NOTE: ] Attempt any two questions. 18=2x9 ‘ -gfda,uzé_-,wmaéf ’ s
5.(A) | What is meant by stopwatch? Describe in detail digital 4 g el I )yliwtz""':’?% A e Bl (.S
stopwatch. ’
(B) | The value of “g” is 4ms™ at a distance of 10,000 Km 2354 4262 10,000 Kme s p £t -
from the centre of the earth, find the mass of the earth? 5 W ff Jo et see A o2
6.(A) | How can third equation of motion be derived 2 e FLd sl B i A 7 | (L6
graphically? o .
(B) | The density of air is 1.3&gm™, find the mass of the air in 10mxTmx6m-e13kgm™ S3bin -
a room measuring 10mx7mx6m. 5 G gy e fL e
- [CALIE PR WA AR
7.(A) | What is meant centre of gravity? Find centre of gravity wall 2 Binta. e o Al gl AT B (7
of an irregular shaped thin Lamina. © ’ ‘ e
4 bl S A
B) | A balloon contains 1.2m° air at 15°C . Find its volume (RS2t L 2m’ 215°C hetbdl ()
at 40°C . Thermal coefficient of volume expansion of L;Uf;’(}/,;ugr,g,,g,ﬁ_g ok, 40°C
air is 3.67 x ]OF‘B .K_] 5 e 3.67 x 10~5 K—l JJ&;‘}J”{
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You have four choices for each objective type question as A, B, C
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and D. The choice which you think i3 correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /iy Sr.No.
The number of significant 1
4 3 2 5 figures in 0.00580km is:
el fur syt 0.00580 km
Displacement Distance Velocity Speed A change in position is called: 2
ek gy e & b AN B,
Velocity Mass Net force Force Inertia depends upon which? 3
g Ju Ve V2 Sy AT
What will be the acceleration that] 4
is produced by 16N force in a
3ms™ dms™ 2.5ms™ 2ms ™ mass of & kg?
G U eN L S 8
oF. n_l{‘/u,'%)’{l-/‘.'.
The number of perpendicular 5
1 2 3 4 components of a vector are:
-g.(}n;lﬁ(fui.’f;{d)/[_}ggf/
6.4 x 10°m 6.4x10¢m 6.4 x10%%m 6.4%x10°m Radius of earth is equal to: 6
VIV Y
E =m?c? E= me F = et E=mc Einstein’s mass-energy equation 7
is: -%&‘JP&;LJLJJU‘JT
The kinetic energy of a body 8
having mass 2 kg and speed
15J 207 53 251 Sms™" will be:
S5ms™ owmrtf)fz 'JWf)' u’r/’?
SnG i SIS S e
In which state, molecules do not 9
Plasma Solid Liquid Gas leave their position?
il N 2 o U7 Py ) AU e 5 of S
T
Normal human body temperature|{ 10
40°C 98.6°C 37°C 3T'F Is: ‘
-q,ﬁ/;';{r)dwlycfgg)ﬂ
Convert 60°C on Celsius scale 11
into Fahrenheit: :
140°F 138°F 136°F 22F edub S EA 60°C LUE
/Ui
Molefc.ules Radiation Conduction Convection In gases, heat is mainly 12
jog/n.su? gL s S S transferred by: e
5/ u):;.. \ «Q:,Vn.,«rgo/‘/"dﬁ’)‘/o)&/u:/'—:.f
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NOTE: Write same question number and its parts number on answer book, as given in the question paper. -4—Iwufe(.g"r'fks{(w/‘bﬁ/d'fLi‘!{té“’&}'i-i«b)
SECTION-1 i
2, Attempt any five parts. l 10=2x5 _s{/‘;’.-,yzg.’,szség;ﬂf 240y
(i) | Define Atomic Physics and Nuclear Physics. S PSSP S P (1
(i) | How stopwatch is used? e Qb Zant (i)
(iii) | Differentiate between Base quantities and _ "gJ 3 s 5 AU e ol (iii)
Derived quantities. : :
(iv) | Define Momentum. Write its unit. ~ _g_i g ZE /JJr-{ w | (V)
(v) | Write two disadvantages of friction. cFeinl 5 W
(vi) | Define Inertia. Ly fden | (D
(vii) | What is meant by force of gravitation? Sl /y’c,(ﬁ’dz Jtgs | (viD)
(viii) | Why law of gravitation is important to us? te Iy LD eI, AN 73 (viii)
3. Attempt any five parts. 10=2 x5 g J_.,y_gé,mé&‘_‘jf 341y
€] Differentiate between scalar and vector quantities. _égukd)d;u”u;,j/{m,)/gﬂ 6]
(i) | For what purposes LIDAR gun is used? ¢ dndii1d £ i/ S LIDAR (i)
(iii) | Can a body moving at constant speed have acceleration? O e 5 f) L1 R L2 (iii)
(iv) | Define Pascal’s Law. _g_/._,yﬂ(fujs‘é‘)@ (iv)
(v) | Describe principles of floatation. _Eudeliyg | W
(vi) | Explain how a submarine floats on the water surfaces and ?4_8132,)"/3}:11[5&»!/5/&3&/”47[”5:)% (vi)
dives down into water. : y ’ _
(vii) | Define greenhouse effect. FEo g (viD)
(viii) | Write difference between sea breeze and land breeze. WESINAP, f")/”d ﬁrj’ (viii)
4. Attempt any five parts: 10=2 x5 _5‘{4;4,35,215‘&‘_6/ 4/,?J,,
(i) | Define perpendicular components. oy A et :;(d: o ®
(ii) | What is meant by centre of gravity? S eS| D)
(iii) | Define moment of a force and give example. e S PSS STy (iii)
(iv) | How can work be done if a brick of 4kg is pulled up a kil FSkdsm e izl LS /K (iv)
height of 5m? )
Wyt S
(v) | Define heat energy and write its some sources. HBsh L g3 i | W
(vi) | What is the second name of a solar cell? How it is made? So (xS WPk (vi)
(vit) | What is the lower and upper fixed point marked on C-W‘/M'/:uK&‘ﬂf4l/:'/’:’4drc-‘¢fkuxﬁ (vii)
Fahrenheit scale? How we take these values? T ’ M :
?4_@'@?4{,/}1
(viii) | Write applications of Thermal expansion. -ui“f SubKodisy S 5 (viii)
SECTION-II ¢».»
NOTE: | Attempt any two questions. 18=2x9 ' ez leirs 05 s
5.(A) | Derive an equation for the orbital velocity of a &L Fibuswr Lz w2 SHSs S L | ()25
- | satellite revolving around the earth. T T
4 SRS
(B) | How much centripetal force is needed to make a 3ms™ e L Riustem S Loy Ss00 | ()
body of mass 500g to move in a circle of radius s L o g :
50cm with a speed of 3ms™ 2 5 S SFE S K L e by
6.(A) | Prove that v, =v, + at by using speed-time graph. | 4 v, =V, +at Sgetaud SISt | (-6
(B) | The head of a pin is a square of side 10mm. Find /J,Lmmmm/uﬁ&ﬁéuéﬂ/g%g@_@ sl
the pressure on it due to a force of 20N. o o . )
5 e Bgini e A S20N b
7.(A) | Define torque and describe it in detail. 4 Sl et ol S S | ()T
(B) | Temperature of water in a beaker is 80°C . JE <Ak 80°C /r:/fbl{('}g;ﬁru:/gu{! ()
What is its value in Fahrenheit scale? & ot e b oo




